
12.3 Join the pairs of sentences in two different ways using so 

and because.  

 

1. She went home. She was tired.  

a) She was tired, so she went home.  

b) She went home because she was tired. 

 

2. We didn’t enjoy our holiday. The weather was bad.  

a) The weather was bad, so we didn't enjoy our holiday.  

b) We didn’t enjoy our holiday because the weather was bad. 

 

3. He worked hard. He passed all his exams.  

a) He worked hard, so he passed all his exams.  

b) He passed all his exams because he worked hard. 
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